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- (1) Question No .1 is compulsory.
(2) Attemipt any 3 from remaining 6 questions .

(3) Figures to the right indicate fullmarks

- - 2
V/dl(a) Prove that F=(z +3y +2x)i+{3x+2y+z)j+(y +2zx)k is irrotational and find (5)

it’s Scalar potential .

-2 2 -3
(b)If A= 2 1 -¢
- =1 =1 @

Find the characteristic roots of A and A +1 .
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calcg,r__gj_;,c: the coefficient of rank correlation between (6)
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49 , S0, 43,37, 43, 49 , 10 20
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for x>0

Find the val k, "Hie math | tatd
ve ot k, "fie mathematical expectation and the probability that on 4
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given day  the electric consumption

Is more than the expected value

2 2 1]
( ¢) Show that the given matrix L3 1 S
]Il 2 2 j
Find the transforming matrix and diagonal form .
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MA certain injection administered to
.

Changes in blood pressure .

"5,2,8,-1,3,0,6,-2,1,5,0,4 &

‘Ca‘n it be concluded that

12 patients resulte

the 8Howmg (6)

the injection will acmmpamed
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(b}

S . |
Optimise z = 2x{ + 2:1c§i2 +

subject to x, + X5 o+

sre kept aside

Gauss theorem
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time was noted. Test whekhes olice ave wnbiaged.

No of successes: 0O 1 Z 3 4 5 6 and above
Frequency . 447 1145 1181 796 380 115 32

5(a) Marks obtained by students inan examination follow & normal distribut
Iif 30% of students got below 35 marks and 10% got above 60 marks. Find t

Mean and the standard deviation.

(b) Using Stoke’s theorem find the work done in moving a particlielon
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(8)

(m) o, if o, =3
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/Sh’rA group of 10 rats fed on die n er gmun of 8rats fed on different (6)

&
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in weignt .

diet B, recorded the followin creas

DietA : 5, 6 A 3, 9,6,10gms

DietB: 2, ), 2, 8-gms

Find if the v significantly different ? | (6)
o w | 4 -4
(b) 1 Piove that AY SAY = | ,
T =2 3

(¢} Usi K n-Tuc_k'é-;%f 'tonditions solve following N.L.P.P (8)

aximise  z =2X, +3X, -X; X,
isct to X, t X, <1

2%, + 3Ix, £ 6 X, X, = 0




